
Multiplier, diviser  
des nombres relatifs5

CHAPITRE

23  a. – 6 b. 5 c. – 6 d. 1

16  Le produit a 15 325 facteurs négatifs, c’est impair, 
donc le produit est négatif.
Ce produit est égal à – 1.

32

× 4 – 1,2 15 – 0,7

– 3 – 12 3,6 – 45 2,1

2 8 – 2,4 30 – 1,4

– 10 – 40 12 – 150 7

51  a. − 7,2
8

 = – 0,9 b. 6
1,5

−
−

 = 4

c. 
9,2
− 2

 = – 4,6 d. 147
− 1,47

 = – 100

58  J = – 6 + 4 × (– 9)
J = – 6 – 36
J = – 42
K = (– 7 – 2) : (5 – 8)
K = – 9 : (– 3)
K = 3
L = – 8 × (2 – 11) + (– 3)
L = – 8 × (– 9) + (– 3)
L = 72 + (– 3)
L = 69

63  A = – 7 × (15 + (– 21)) 
A = – 7 × (– 6)
A = 42

Je m’entraîne
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